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QUESTION 1

A data column contains phone numbers including parentheses and a dash. For example: (111) 222-3333 Which of the
following Column Actions will transform the column of data into numbers only? 

A. Remove Characters 

B. Extract Portion of Text 

C. Replace from Substitution File 

D. Compress Repeated Characters 

Correct Answer: A 

 

QUESTION 2

Intelligence has arrived in a number of documents. The documents include lists of all employees of 10 organizations. A
typical example is "Frank Wilson works as an accountant for an organization called ABC. He also works as a trainer for
an organization called XYZ". An intelligence analyst has been tasked with creating a chart so that questions such as the
following, can be answered: 

-Who works for ABC as an accountant? 

To create the chart, the analyst has to decide how to structure the data. Which of the following example structures
would be able to answer this question using a search? 

A. Exhibit A 

B. Exhibit B 

C. Exhibit C 

D. Exhibit D 

Correct Answer: D 

 

QUESTION 3

When adding a link to a directed connection and the new link has the same direction as any existing link, what happens
to the connection multiplicity? 

A. The connection remains Directed. 

B. The connection is changed to Single. 

C. The connection is changed to Multiple. 

D. The connection multiplicity is changed to a link with corners. 

Correct Answer: C 
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QUESTION 4

Review this section of a financial transaction chart: 

What type of multiplicity connection is shown for the links between the two Savings Accounts? 

A. Single 

B. Multiple 

C. Directed 

D. Closed Loop 

Correct Answer: B 

 

QUESTION 5

An intelligence analyst has printed a chart that is cut off at the edges. Which of the following is the BEST way to fix this
problem? 

A. Adjust the scale 

B. Remove the border 

C. Center Chart on Paper 

D. Remove header and footer text 

Correct Answer: A 
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